)

2)

3)

4)

Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for the use in School Based Summative Assessment-
II, March-2012 only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the Board in this
regard.

The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with School
based SA-II, March-2012, in any form including the print-outs, compact-disc or any other
electronic form.

Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question

paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - II, 2012 67038
Gehterd udrarm - 11, 2012
SCIENCE / fag=
Class - X/ el - X

Time allowed : 3 hours Maximum Marks : 80

fuifta vw= : 3 9ue Jfereran 37 : 80

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 4 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 5 to 13 in Section-A are two marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 14 to 22 in Section-A are three marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 23 to 25 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 26 to 41 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

() T U I I ST U, UTT-37 ST UFI-a § 9T T | SR S 9T R I ok IR fae
g

(i) =+ T sfame €1

(i) I U U W BE TG YH Tl €, e WH-TiF Rl F U= g B Al =9q e e oA
T § 319 hael Uk il =99 i SR foe & fa 97 ged ©

(iv)  STTTeRT WTT-31 TR UT-o &% Tt Te1 o S JIF-gereh ferad g |

(v)  WTI-37 % T H&A1 19 4 % YT Ueh-Teh 3eh o & | STk S Ueh YT 1o Weh QTR § & |

(vi) ~ WT-37 % Y9 HE&AT 5 § 13 % Y G1-a ekl & ¢ | Tk S N 30 oTsal H o €|

(vii) ~ TT-3T7 % Y9 HEAT 14 § 22 3 T -1 Fehl & & | Tk U A 50 9Tal o <7 2 |

(viii) WRT-37 % Y¥F H&I 23 ¥ 25 F Y¥9 Urel-UT ekl o & | TToh AL T 70 91eat & < T |

(ix) ~ HTT-& % T HEAT 26 T 41 F T TANTHSE iRl R TG Tgfashed 797 €1 T 97 Teh
3R H1 T U T =R fashedi #§ 9 ATIR] Had Tk o SUGH fahed T2 |

Page 2 of 13



10.

11.

SECTION-A / {T-37

Name the functional group present in CH;COCH; and state the name of this compound.

CH;COCH; ¥ Sufterd YehmicTsn Tg a1 39 ik o1 W fafau |

What is meant by power of accommodation of the eye ?
3G T FHE &7 T A AR T 2

Name the two abiotic components of ecosystem.

Ra | g Q1 3 wahi & T4 fafed |

Mention the role of microorganisms like bacteria and fungi in the ecosystem

IR % GEASa S SR 31k wihe i yfier fafe

State Modern Periodic Law. Name the two elements of first period.

sk arrerd e fafed | gom svrerd < <1 el o W fofed |

Arrange the following elements in the descending order of atomic size and give a reason for
your answer.

Mg, Cl, P, Ar

(Atomic numbers of the above elements are 12, 17, 15, 18 respectively.

1 TSl <Rl 51k TRATY] R WS o T2 shH W aferd swifsrd 3R sT9H I 1 SR o fafed
Mg, Cl, P, Ar (37 Gl &l TRHY] & A § 12,17, 15, 18)

a) List any two methods of asexual reproduction.
b) Explain how spirogyra reproduces ?

(

(

(@) 3l I & wis o fafaar i)

(b) EHSSY b Y] fhd UPR Usieded i & ?

Explain why does menstruation occur in human females ?

xS 6 Aa - AT A FHJHT IFYAT TGN FA BT § 2

An object is placed at 25 cm in front of a concave mirror of focal length 15 cm. At what distance

from the mirror a screen be placed in order to obtain a sharp image ?

S fordl 15 cm ®iehd g % 3TaqA Y01 9 25 em R fo@ ®1 w8 1 <901 § foRat g W W@ f =W

W foret o1 T giafard = ?

After rains, during day time a rainbow often appears in the sky. Explain how this natural

phenomenon occurs, with the help of diagram.

feq o auf B8R & o W e H gy fouE ued %1 A Wihfash e o YR wedl §, 3H

ot g/ TR |

(@) The sky appears dark to passengers flying in space. Why ?
(b) Which component of white light is least scattered by fog or smoke.

()  oTfRel ® AT I SR e fo@E a1 g1 i ?
(b) YOI YT BT I W1 Heh T ST higd T T HH FehiT0d Brefm & 2
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12.

13.

14.

15.

16.

17.

18.

19.

20.

V)
~—

“Forests are biodiversity hotspots”. Give reason to justify this statement.

(

(b) State the meaning of “Sustainable Development”.

@) ‘'av g fafaum & fafire e €7, 38 % &t gfe wifv
(b) ‘It o’ o 31ef i Seod it

How are fossil fuels formed ? Why should we use them judiciously ?

STETeHt SU 8 oA € 2 BH SR FEEId SYANT & AT HIey 2

An organic compound A of molecular formula CoHj4 on reduction gives another compound B
of molecular formula C2Hs. B on reaction with Chlorine in the presence of sunlight gives C of
molecular formula C.HsCl.

(@) Name the compounds A, Band C

(b) Write chemical equation for the conversion of A to B and name the type of reaction.

HTE HTen TR A Froent enfvae 3 CH, B, STU=Tad 8ot Teh 311 AifiTeh B oA & forerent

anfoareh Y C,H, & | AfiTeh B g o yehrel o6t Sufearfd ® sy 9§ sifafsran e difie C o &

fSraent smfvaess g CH-CI B |

(a)  @IfiER A, BT C % W fafaw|

(b) i A =i B H ufafda e arelt stfafshan o1 TEmRfTe SR 91 366 TR TR I A1
fefa |

(@) What are metalloids ?

(b) Name any four metalloids

()  ordurg foRs wea €2

(b)  HE =R Y "G ok AW fAred |

(a) Mention the two functions of ovaries in human female reproductive system.
(b) Mention the name of organ (i) that provides nutrition to embryo,

(ii) site where fertilized egg gets implemented.
(@)

(b)

o Qo

ATAT AGT STAd ded H BRI & & gy iy |
b)  3H WA P A AT S (1) TS HOT BT GINOT Yerd T &,
iy el a3 Tt gar § |

a

A tall pea plant bearing violet flowers is crossed with short pea plant bearing white flowers.
Work out the F; and F, generations. Give F, ratio.

STt gt STt TS HeX o WY Rl Wihe IO STl S HeX % WY § Hentol e W ¥ NG F,
didi F, o ol qeigq | F, $1qum fafe |

Distinguish between analogous and homologous organs with an example of each.

T 1 Teh-Teh 3ST8L01 Sohd THEY 3T de TUST 317 o o= fave Sifs |

List any six vegetables which have evolved from wild cabbage due to artificial selection.

A == R STt Meft © faskfaa fordl ©: wfssal (aeafa) st =t sART

A 2 cm tall object is placed at a distance of 25 cm from a convex lens of focal length 10 cm. Find
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21.

22,

23.

the nature, size and position of the image so formed.

2 cm S 1 foFe 10 cm WIRE T o A0 o 9 25 cm §0 W f¥e@ 81 o 9t gfdafora st 9,
qrest ug fefa I wifea |

(@) State Snell’s law of refraction.
(b) With respect to air the refractive index of kerosene is 1.44 and that of diamond is 2.42.
Calculate the refractive index of diamond with respect to kerosene.

(a) USRI I SHaA-fem fafa
(b) o % EHE R o ST o STUeiHIh HAT: 1.44 qA12.42F | FRURHA o wer em@mve
1 TR IRR{ATd hifSTT |

(@) Define near point of vision for the human eye.
) The far point of a myopic person is 150cm in front of eye.
What is the nature and power of the lens required to correct this problem ?

(@)  AHa 3@ % gfie % free fog 1 afnfim wifs)
(b)  Tereh ArEfyen 9 difed sira w1 R-forg offe ¥ 150 T, W AT R W HA & fou
ST o9 i Yepfa 3R &1 F1d HifS |

(@) Draw the structures for the following compounds.
(i) Bromopentane (if) methyl propane
(iii)  Butanal (iv)  Hexyne
(b) Draw the electron dot structure for ethanoic acid.
() Draw and explain the structure of the micelle. Which end of the micelle dissolves in
dirt ?
(@) = feu T Al w6t G it
G) s (i) Ao 9o

(i) ~=TA (iv) oA

(b)  TIHTEH A h! TIaEA-olg HL=AT WiaT |

()  Tooa = 9= Eifaw qen 58 A1 ! men Sifvie | fi8e &1 wF o1 fo 8 § 5a s
=

OR/3TraT
Write the name for the following compounds:
@) CH;—CH — CH,—CH; (ii) CH; — CH=CH - CH,— CHs
|

CHs
(i) CH;—C-CH.,—CHs (iv) CH;—CH,—CH-CH;

I I

0 Cl

(b) (i) Take about 3mL of Ethanol in a test tube and warm it gently in a water bath.
(ii) Add a 5% solution of alkaline potassium permanganate drop by drop to the
solution.
(iii) ~ What happens to the colour of KMnO4 added initially and then in excess? Give

reason. Name the product of this reaction.

() What is scum ?
=t fow T Hfrert & T fafe
(i) CH3;—-CH — CH>—CH;s (if) CH; - CH=CH - CH>—CHjs
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24.

25.

(ii)

0

/a ~_~ N N /SN
\e) gLooe

NERCIR

/\A/Q?/\AA
~—

(b)

|
CH;

CH3—T|:—CH2—CH3 (iV) CH3—CH2—CI|—I—CH3
0 Cl

() T WEe § T 3mL T ST 3R 38 -4 a1 Foae T T Sifse

(i) 39 foeEA § g5-98 Fh 5% & IEREm wHTe faeer e

(iii) TR H HEATT T KMnO4 T 41 BiT & 720 38 afesr o fieie o o g 2
HRT TIY HIST | 36 AfAlRAT o Iaurs fafaa |

WY 1§ ?

Draw a labelled diagram of human male reproductive system.
Why are testes located outside the abdominal cavity?
List the two functions of testes.

AT - R STeded ded &l ATHAThd T T2 |
guUT 3T ¥ dTed &1 afeYd g & ?
quur & & e fafEd

OR/3Ydr
Explain any two consequences of unsafe sex.
List any two surgical methods for contraception
Why has the government banned pre-natal sex determination ?

7N AT F o P o ey Rt iy |
AT a7 GFIeT & BI$ &1 wrurfaa TROTH FHASTSY |
WHR o HOT Hl foldT - YR W Fiefelt dR W ar Ay oemar § 2

Define principal focus, focal length and principal axis of a lens.
Draw ray diagrams to show the principal focus of a

(i) convex lens

(ii) concave lens

A HIhH, Hihd g 91 i & A 3181 i gy fafen |
() STAAH, (i) A < F &I R i [Efd Tl SUH & foaw famtor s gifew |
OR/3eran

A ray of light AM is incident on a spherical mirror as shown in the diagram.
Redraw the diagram and show the path of reflected ray.

%

Name the type of mirror which always forms a virtual and diminished image of the object
in front of it. Draw the diagram for the same for an object in front of it at a finite distance.
State any one use of it.

T e § TR TR FE g fRor AM fRet Tiefa dor w edfad ©1 59 SIR@
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26.

27.

ST I YRRl W G Tafda forior o1 99 qerizu |

(b) g T %1 A fAfae S wia T wr R et fore @ eneh Td S wffere 9§
Tq U gRT IRfd g W el o feea fordt farar o1 wfafers e wiit & faw faeor s
ifau | 39 <4 1 FE T 3TN fafa |

SECTION - B / 4M-&

An aluminium strip is kept immersed in freshly prepared ferrous sulphate solution taken in a
test tube. A change which is observed after some time is -

(a) the green solution slowly turns brown.
(b) the colour of the solution fades and lower end of the test tube becomes slightly warm.
() a colourless gas with smell of burning sulphur is observed.

(d) light green solution changes to blue.

Teh TREAC! | TSI o1 il Yothe Taerds oot 390 UQIfAfTam &t T 98t &l Sa @ T $9
T qYEd o6 91 gRedd fo@ms < ?

(@) o facee -+ o% 8 orm §

(b)  foeTa o1 T iRl UeA ST ¥ T U Shi el geehl TH &1 S ¢ |

(€)  TEHR e Wt T St TR 9 et e It 2
(

d) ¥Rl &0 oo e & S

A student took Cu, Al, Fe, and Zn separately in four test tubes labelled I, II, IIl and IV. He
added 10 mL of freshly prepared ferrous sulphate solution to each test tube as shown below.

I I II1 IV
— — — —
—- — — —

Cu Al Fe Zn
e oe e 9 oo

Black residue would be obtained in test tubes :
(@) Iand I (b) Iand III () IT and III (d) IIand IV

T B A Cu, Al, Fe T4 Zn % $S Ihe Ol 3= JUh-J¥eh IR TEHtedl [ I [ aaT IV § fo=

H ST STTHR @1 38 99 39 Toish W@t H i othe ol el o1 e S|
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28.

29.

30.

31.

Zn

R e e SR ST A S e #
@  ISRII (b) ISR © IR d nsRv

While studying the properties of acetic acid in the laboratory you might have noticed that the
acetic acid

(a) smells like rotten egg and turns blue litmus red
(b) smells like lemon and turns blue litmus red

() is neutral towards litmus and has no smell

(d) turns blue litmus red and smells like vinegar

AT B UHifeer oTreT o ToTeml ohl 31873 Shid TR o719 98 UId § foh WHifes ema
@) U S e S Y I ® R I% el fiend &l o S S B

(b) G e SiE Ty oA § IR I8 il forend w1 e R <a1

()  forena & ufq 3 § &R 368 K Ty 7 ot

d) e forens 1 A S § SR 3R e St Ty e 2

Equal amount of acetic acid and water were added in a test tube. After mixing well it was
observed that
(@) the acid formed a separate layer at the top.

(b) water formed a separate layer at the top.
() the turbidity appeared in the test tube.
(d) a clean solution was formed.

Rl wEett § S/ qen UEifesh ol & TuM AEaH! o veltyifa faem W, J&1or e W Ig e
HRINED

(@)  UHifew o1 ¥ TG § FR IO W T o 7

(b) ST A WREFE H HR I I 41 o B

()  wEe o e faee 59 T ¥

d) e ¥ W faeee 59 e

When sodium bicarbonate powder is added to ethanoic acid, a gas evolves. Which one of the
following statements is true for this gas ? It:

(@)  has pungent smell (b) turns lime water milky

() is brown coloured (d) burns explosively

S HifeH e & TRel H UHATsH o fierd € il i e feperdt €1 39 719 o fog @&t
HeA T -

(@)  He! A& T B B (b) I T H T R e A I T

© WRTHR AT d) I faune & @y Serdt 2

While finding out the focal length of a convex lens, Ashok kept it on a stand on the optical
bench at 10.5 cm. He adjusted the stand carrying the screen to obtain sharp image of a distant
tree on it and finally got it when this stand was at 20.8 cm on the optical bench. The focal length
of the lens is -
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32.

33.

(@) 10.3 cm (b) 10.5 cm () 20.8 cm (d) 51cm

T 3TA o1 I BTG 1 T o TN | 3T 7 T8 Th WIS T T T Th Feh1eeh o
W 10.5 cm % oA R @11 FR 397 30 wve &1 9 W BhiF o o1 3§ g9Eitag fean aifer T
L&Y &1 1 WY Yidferrsl 9 81 ¥eh | 3A<Id: e RO 20.8 cm W W 1 Bhi4 TR T8 Yfdfores gra 2

T | T T IR &

(@) 10.3 cm (b) 10.5 cm (c) 20.8cm (d) 51cm

Ritu obtained a distinct image of a distant tree on the screen with the help of a concave mirror.
To find focal length of the mirror she shall have to measure distance between-

(@) mirror and the tree
(b) screen and the tree
() mirror and the screen

(d) mirror and tree as well as between screen and the tree

g - T AT &1 1 Toh T Widforst Sferdel 901 o §RI WISl fohal | U1 <l Thih® gl J1d i &
ferd 58 ot gfeell Aot e -

(a) <Y AR &I & o=

(b) TR AR I F o= |

() T AR BRA & o=

d) U7 IR &I T BhA 3R g8 & |

A teacher obtains distinct image of a distant tree on a screen with the help of a convex lens and
then asks her four students A,B,C, D to describe nature and size of image. Answers given by
them were

(A)  virtual, inverted, smaller than object

(B) real, inverted, smaller than object

© virtual, erect, same size as that of object

(D)  real, erect, same size as that of object

The correct answer who given by -

@ A (b) B © C (d D

T ST A Toh R Feord gat o1 vug yfiforsr 3aa of g &t Heral § Bhid W M fhan 3iR 399 =R
BHEI A, B, C, D ¥ gfafars =t wyefa, fearfa oIk argst sam & forw o611 7% g fed me s 9 -

(A)  wfaferer s, Seer iR a5 @ BT T

B)  wfafers arcafas, 3w iR 9% & BRI ¥

C)  ufafawa st Hien 3R a5 % SRR sl &

(D)  wfafers arfere, e iR a%g % SRR e 7|

518 BT % 571 wEl ST e T AR © -

(a) A (b) B (c) C (d) D
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34.

35.

Four students A, B, C and D set up the apparatus for tracing the path of ray of light passing
from air through a rectangular glass slab. The most appropriate and preferred position of pins
is that of student

© @
® @ @® ® ®

A ® C ™

@ A (b) B © C d D
IR B A, B, C 1 D AIAHR FHid & T H g W ToRA 916l Y191 1 fRT0r 61 v SRfEd e
% IYHVT I TTLAT A & | oY 3UFa e Aterm= o 6t fearfa aren s § -

© @
® @® @®© ® @

@ A (b) B © C (d D

Four students A, B, C and D tracing the path of ray of light through a glass slab with different

angle of incidence. Their observations are recorded in the table given below.

Student Angle of incidence | Angle of refraction Angle of emergence
A 30° 19° 30°
B 40° 30° 40°
C 50° 40° 50°
D 60° 50° 60°
The correct set of observation is that of student.
(@) A (b) B () C (d) D

IR BT A, B, C 91 D A fafie st vl & folt TR i & e 9 7o dreft gt fho
& 9 SFfEd fRy| 37 ol % Yeror i greft § fou e E -

EIE| AT 0T AqEd 0T fwfa o
A 30° 19° 30°
B 40° 30° 40°
C 50° 40° 50°
D 60° 50° 60°
T&I0N o TRl T el B ¢
@@ A by B © C (d D
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36.

37.

38.

The diagram given below illustrates :

(@) binary fission in amoeba

(b) bud formation in amoeba

(c) formation of daughter cells in yeast
(d) binary fission in yeast

T feu v s o forgen! =ame st T € ?

I U gafd SIfrertst &1 =1

C

d) e ¥ fgaveq

~—

(
(
(
(

A slide is showing binary fission in amoeba. What should a student look for :
a) Anamoeba with elongated nucleus and a constriction in the middle.

b)  One small and other large daughter cells.

¢) Anamoeba with many pseudopodia and a large nucleus.

d) A round structure with round nucleus.

fort) wee ¥ arien U fg@ve <oien T 1 S %l 39 WAES H TRt Y&Tu1 AT =fet ?
(a) st fored Sieliepd shsen dern sfa H GehiviE =)

(b) T DI AT 3T ! Hald HIH |

(c) hIg 3THten fSrad oIgd 9 UIeIv d91 Tk oSl hrseh 8l |

(d) E T G S T e B

o~~~ o~

Following figure represents the reproduction in :

(a) Amoeba (b) Yeastv (c) Plasmodium (e) Hydra
5T grf st R fass Sietet T formuor BT § 2
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39.

40.

41.

(@)  owffar

The shape of yeast cell in :

(@) spherical only

(b) oval only

() both spherical and oval
(d) irregular

Mo - P! S T Bt -

(a)  Fad A

(b)  FHAA HUEIBER

(c)  SIIcT e AUSTBR Glall

d)  aforafdd

At the end of the experiment, ‘to determine the percentage of water absorbed by
raisins’, the raisins are gently wiped just before weighing. This is to ensure that :
(@) hands do not get wet.

b) the raisins lose water before weighing.

C) only water absorbed by raisins is weighed.

d) the weighing scale does not get wet.

(
(
(

TSI #fperfSRl g1 aenfa St &Y wfderdar fefRa axre & 3ifds ool  ofF it fperfser @ alem &
e ugel R W Uied 81 U1 g8 gfead & for fargT Siar & 1%

() g Mer TE &

(@)  dlem A qd fherfser ot @ &

@)  Pad fhrfsEl R s@anfya et & gol

(@) QAT BT yerST AT = &7 |

While performing an experiment to determine the percentage of water absorbed
by raisins, the following data was obtained :

Mass of water taken in the beaker=15.g

Mass of raisins before soaking them in water=2 g

Mass of raisins after soaking in water for 2 hours = 2.4 mg

Mass of water left in the beaker =14.6 g

The percentage of water absorbed by raisins would be :

(a) 20% (b) 25% (c) 40% (d) 50%

feperfeRIl GRT AT STt DT HILITAT ST P A FrTferRad s UTH 8U :
IR  foTU SieT &1 Segg = au.«

feperfgsal &1 PR A 4 Sieggi = 200w

al BC St § P R fperfgRl &1 seggi = qyom

iR & a0 STl I Gegg = R ¥

feparfEsail gRT raenfye Sfet et Hfcreraer 8-
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(a) 20% (b) 25% (c) 40% (d) 50%

-00o0-
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